HEEEN

Centre Number

HEEEEEREN

Student Number

2008

HIGHER SCHOOL CERTIFICATE
TRIAL EXAMINATION

Mathematics

This is 2a TRIAL PAPER only and does not necessarily reflect the content or format of the
Higher School Certificate Examination for this subject.

General Instructions . Total marks — 120
e Reading time ~ 5 minutes e Attempt Questions 1-10
o .Working time — 3 hours o All questions are of equal value

s Write using black or blue pen

e Diagrams should be drawn in pencil

s Board-approved calculators may be
used

e A table of standard integrals is
provided at the back of this paper

e All necessary working should be
shown in every question

s Start each question in a new booklet

Total marks — 120
Attempt Questions 1-10
All guestions are of equal value

Answer each question in 2 SEPARATE writing booklet. Extra writing booklets are available.

Marks
Question 1 (12 marks)
- 19 .
()  Find the value of i correct to two decimal places. 2
>4
(® Solve x—3(2-x)=0. 2
(¢) Factorise a® —27. 2
@  Write 0.526 in the form of % : 2
(&)  Kate invests $5500 for 3 years. The investment earns 7.5% p.a. compounded 2
annually. How much interest does Kate's investment earn after 3 years?
. L . 1
® Find a primitive function of 4 —— . 2
x
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Marks ' Marks

Question 2 (12 marks) Use a SEPARATE writing booklet. Question 3 (12 marks) Use a SEPARATE writing booklet.

(@ 27 5 ()  Find:
) %(sin 3x) 2
@ () 2
o » X
0 C

()  Evaluate each of the following correct to 3 decimal places:
O is the origin, B is the point (1, 6) and C is the point (5, 0).

1

. 4z 2
Copy this diagram into your writing booklet. ® Je dx
0
(i) Find the co-ordinates of the point P such that OBPC is a parallelogram. 1
Label this point on your diagram. 2 dx
(i) J— 2
(ii) Find, in its simplified form, the exact length of BC. 2 4 Jx
(iii) Find the area of the parallelogram OBPC. 1
(iv) Hence or otherwise, find the perpendicular distance from P to the 2 ©
diagonal BC.

(v) Find ZBCO to the nearest degree. 2

(b)  The quadratic equation 4x* ~3x+1=0 has roots & and f. Find:

® a+p 1
@ o 1 Tn the isosceles iriangle ABC, ZABC = ZACB = . The points D and E lie
on BC and AC, so that AE=AD. Let ZBAD = f.
(111) _._1_ + _1__ 2
o p @) Bxplainwhy ZADC =0 + B. 1
(i) Find /DAC interms of @ and B. Give reasons. 1
(iii) Hence, or otherwise, find ZEDC in terms of p. 2
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Marks

Question 4 (12 marks) Use a SEPARATE writing booklet.

@) The movie theatre on the QEIl is specially designed. The floor narrows from
front to back so that each row of seats behind the first has two seats less than
the row in front of it. The front row has 37 seats.
(i) How many seats are in the 7% row? 2
(i) Whatis the greatest value  can take? 1
(iii) The movie theatre seats 360 people. How many rows of seats are there? 3
®) A function is defined as y=Inx.
(i) Copy the table into your writing book and complete it giving answers to 1
3 decimal places.
x 2 3 4 5
y=Inx
(i) Using the trapezoidal rule, find an approximation, to 1 decimal place, 3
5
of Jln x dx using 4 function values.
2
(iii) Sketch the graph of y =1n x and use it to explain why your approximation 2
in part (ii) will be less than the exact value of the integral.
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Question 5 (12 marks) Use a SEPARATE writing booklet.
(a) @i Sketch y=2sin2x for 0<x<27%. 2
(i) Calculate the area bounded by the curve y = 2sin 2x and the x-axis 3
between x =0 and x=3—”.
()  A'box contains 4 red and 5 green marbles. Anna randomly selects 3 marbles
one at a time and without replacement.
(i) What is the probability that she selects green, red, green in that order? 1
(ii) What is the probability that she selects a majority of green marbles? 2
© O I f(x)=log,Jx evaluate fle). 1
(i) Find the equation of the tangent to the curve y =log, Jx atthe point 3
where x=¢”.
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Question 6 (12 marks) Use a SEPARATE writing booklet.

(@)  Forthe curve y=x" —3x:

Marks

(i) Find the stationary points and determine the nature of these points. 3
(ii) Show that (0,0) is a point of inflexion. 1
(iii) Sketch the curve for —2<x<3. 2
1
(iv) Hence, or otherwise, evaluate Jx3 ~3xdx 1
|
(b) Carl the caterpillar woke up one morning and he was feehng very hungry. 2
So he found himself a big leaf and started munching. After fERTHUTSS
he had catenHEH Since his tummy was starting to fill up,
’&m of the leaf. In the next JOREGREY
cm of the leaf and so on.
If the leaf was 28&milong, would Carl finish eating the leaf for breakfast?
Give reasons.
d
i) Find —(™*). 1
© O le=)
%
(ii) Hence, evaluate J(sec2 2x) €™>* . Leave your answer in exact form. 2
0
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Question 7 (12 marks) Use a SEPARATE writing booklet.
(a)  For the parabola y* —2y—4x—7=0, find:
(i) the co-ordinates of the vertex. 2
(ii) the co-ordinates of the focus. 1
(iii) the equation of the directrix. 1
(iv) Sketch y* —2y-—4x-—7=0, labelling the vertex, focus and 2
directrix only.
(b)  The diagram shows the graph of y=e* —1 and y=¢™"
= AV
y=e
y=e" -1
1
D > x
B B RN
(i) Show that the curves intersect when: 2
e —e*—1=0
(ii) Use the results in part (i) and the substitution m = e”, to show that 2
the x - co-ordinate of the point of intersection of the curves is
approximately 0.481.
(iii) Find the area of the shaded region to 1 decimal place. 2
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Question 8 (12 marks) Use a SEPARATE writing booklet.

(@  The graph below shows y = f'(x).

A 4

Copy the graph into your writing booklet.

(i) For which values of x is the curve of y = f (x) increasing.

1
(ii) On the same axes sketch y = f (x) clearly labelling the important features 3
at x=-2,x=~1 and x=1.
®) (®  For what values of k does the quadratic equation kx> + (k + 3)x -1=0 3
have no real roots.
(ii) Hence, explain why y=/kx* + (k +3)x —1 can never be positive definite. 1
Question 8 continues on page 10
Higher School Ceriificate Tri
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Marks
Question 8 (continued)
(¢  Thegraphis y=sec2x from x=0 to x:zsz—.
NEA A
)
0 z *
8
(i) 'The x-coordinate of A is % Find the y-coordinate. 1
(i) The shaded region is rotated around the x-axis. 3
Show that the volume generated by this rotation is given by:
2
r - ﬂ'J sec? 2x dx
4
0
and hence find the exact volume.
Higher School Ceriificate Trial Examination, 2008 page 10

Mathematics




Mathematics

Marks
Quesﬁon 9 (12 marks) Use a SEPARATE writing booklet.
(@  Solve 2sin’x~3cosx=0 for 0<x<27. 3
(b)) A grainsilo is constructed from a right circular cone and cylinder of equal
heights "A" m. The slant edge of the cone is 9 m and the radius of the cylinder
is "r" m.
]
(1) Write down the equation linking r and 4. 1
(ii) Show that the volume of the silo is given by: 2
4 .3
V =108k — Eﬂh
(iii) Find the height of the silo that gives a maximum volume. 3
(¢)  Inthe Jackpot Lottery, the probability of the Jackpot prize being won in
any draw is approximately 1 in 50.
(i) What is the probability that the Jackpot prize will be won in each of 1
three consecutive draws?
(i) How many consecutive draws must be made for there to be a 50% 2
chance that at least one Jackpot prize will have been won?
Higher School Certificate Trial Examination, 2008 page 11
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Question 10 (12 marks) Use a SEPARATE writing booklet.

(@) A regular octagon is drawn inside a circle with centre O so that its vertices
lie on the circumference. The circle has radius 1 cm.

(i) Find the area of AAOB and hence find the area of this octagon.
(Leave your answer in surd form.)

Another regular octagon is drawn outside the circle.
The altitude OM of AOPS is 1 cm.

@) Find the area of AOPS and hence find the area of this outer octagon.

(iii) By considering the results in parts (i) and (ii), show that:

z V.4
< —<4tan—
V2 : :

Question 10 continues on page 13

Marks
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Marks
Question 10 (continued)
(b)  Miss Toolan dec1des to borrowﬁm 2 %o buy an apartmen
The loan is to b ;'repald at the end of 25§62 1A
repayments of @! Let $7A; be the amount owing after the
(i) Derive an expression for Ay . 2
(ii) Find the value of M. 2
(iif) Calculate the amount still owing, to the nearest dollar, after 10 years 1
of payments at this rate.
(iv) Atthe end of 10 years, the interest rate is increased to 12% p.a. and 2
Miss Toolan changes her repayments to $3800 per month.
How many months are needed to pay off the rémainder of the loan?
End of Paper
Higher School Certificate Trial Examination, 2008 page 13
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